Complex Numbers FAQ 1
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On a single Argand diagram, sketch the following loci
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Two complex numbers that satisfy the above equations are represented by p and g,
where Re(p) <Re(g). By using the cartesian equations of the loci, find p and g.

Hence, determine the value of arg(p—g) 151
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Cartesian equation of (i):

G-y = )

Gradient of line segment joining 6+ i and 431

Using GC to solve (1) & (2), we get
p=1.5359+2i

g=84641-2i
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carg(p-q)= n—siu"(%): 5?” =262(3s.f)
Alternative:
p-q=-69282+4i
4
—q)=r—tan” ——=2.62 (3s )
ag(pog) = s GsD)
Or using GC,

arg(p—q)=2.62 (3s.f)





